

Name ____________________

S’mores Lab
Limiting Reagents

Pre-Lab:  

You will use this balanced equation in your calculations:
2 Gc + 1 M + 4 Cp (  1 Sm

Gc = Graham cracker         Cp = Chocolate piece

M = Marshmallow               Sm = S’more

1. What type of reaction does this equation represent?

2. If each student is to make one S’more and I have 75 students, how much of each ingredient will I need?  Show your work!

Gc_________


M_________


Cp_________

3. If I have 20 graham crackers, how many marshmallows and chocolate pieces will I need to use up all the graham crackers?  How many S’mores can I make? Show your work!

M_________


Cp_________


Sm_________

4. You decide to make a large batch of S’mores.  You have 85 chocolate pieces.  How much of each other ingredient do you need?  How many S’mores can you make? Show your work!

Gc_________


M_________


Sm_________

5. While getting out the ingredients for the above batch, you find you only have 30 graham crackers.  How does this affect the number of S’mores you can make?  How many can now be made?

A reactant that is left over is said to be in EXCESS.  A reactant that is used up and limits the amount of product that can be made is called a LIMITING REACTANT.  
	How many S’mores can you make?

(write the product of the equation)
	Anything left over (in excess)?
	Limiting Ingredient (reactant)?

	2 Gc + 1 M + 4 Cp (
	
	

	4 Gc + 2 M + 8 Cp (
	
	

	10 Gc + 5 M + 20 Cp (
	
	

	2 Gc + 1 M + 5 Cp (
	
	

	3 Gc + 1 M + 4 Cp (
	
	

	5 Gc + 2 M + 9 Cp (
	
	


Now, using the real ingredients, conduct a S’mores synthesis reaction, eat the product formed and create a chemical decomposition reaction in you mouth!
